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RASHTRIYA INDIAN MILITARY COLLCCE, DEHRAMUN

ENTRANCE EXAMINATION - JUN 2024
SUBJEGT: MATHEMATICS

TIME: 1 Hr 30 Mins MM: 200
Instructiore<-
1. Attempt all 30 questions. Write your answers separately on the answer sheet to be provided at

the exam centre.
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2. Part ‘A’ contains 20 questions and each question in this part carries ‘Five marks’.
WS S W) Jed Uig 3@ 3 8, AR 3 B 20 T & |

3. rart ‘B’ cc\mtains 10 questions and each question in this part carries ‘Ten marks’.
LW D W U W Sl @ g ol T G 10 B §

4, Use of Calculator is Prohibited. Marks will be awarded stepwise.

DeBOIEX BT FAN FVT W& 1 & | 3 WU AR e S |
5. Take the value of r as -273/ n I q1 3}%’1“»1(* i
6. The question paper can be retained by the candidates post exam./ qoeT @ §1e TEmRi U U
Pl o S Gl & |

RT A (20 X 5 = 100 MARKS)

Q.1 The sum of the digits of a two digit numbers is 13. The number obtained by
interchanging the digit exceeds the given number by 27. Find the number. / T 3T A
TET ¥ ST FT AT 13 §1 AT F AU H ey 9 GH FgeAr & T e § 27 AU g1 7= 79

EnEY!

Q.2 Simplify / @ #%:- 375% 1075x125
577X 67°

Q.3 The thickness of a metallic tube is 1 cm and the inner diameter of the tube is 12

cm. Find the weight of 1 m long tube if the density of the metal is 7.8 gm/cm3. / ¢F &g
a;a‘ﬁn‘mﬂﬁﬁr%ﬁnmmaﬁﬁmw12ﬁtﬁélvﬁmmm7.8mﬁtﬁ3§ﬁ1 e &t
=IF T a9 A1 F

Q4 Divide/ Frmfm 3% 1 44(x* - 5x- 24x2) by 11x (x-8)

Q.5. The four angles of a quadrilateral are in the ratio of 3:5:7:9. Find the angles
separately/ U TS & TRI FON &7 AT 3:5:7:9 §| PO P IHCAT-30T AT

ATl

Q.6 On dividing a certain number by 342, we get 47 as a remainder. If the same
number is divided by 18, what will be the remainder? / f=fi s a1 342 & fawifover A W

¥ T 47 9TH B4 2 7 3t T = 18 & v faam Sto AT e T gr?

Q.7 The LCM of two numbers is 9 times their HCF. The sum of HCF and LCM is 500.
Find their HCF. / 31 Smsit T 7o AT I e STqaa 1 9 AT § $iT e I 7g 7
TATTASE F AT 500 g1 3T Ag<H THITFIS FT T ST HA
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Q.8 Observe the following pattern / fAafafas e we 7w F%:
1=2{1x(1+1)}
1+2=2{2x(2+1)}
1+2+3=-(3x(3+1)}
142 +3+4=5{4x(4+1))
Now, find the values of each of the following / 31@, Fefaf@d # ¥ YdF & AT AT

HiIT |

@ 1+2+3+4+5+....4+50
(b) 31+32+... + 50

Q.9 The ratio of the number of girls to the number of boys in a school of 720 students
is 3:5. If 18 new boys are admitted in the school, find how many new girls may be
admitted so that the ratio of number of girls to the number of boys may chang? tg 2:3? /
720 BT F UF A § A=At 1 G601 w7 agFt £ g § oqura 3:5 21 A% 18 7 A TFA F
saer o Sra g, aﬁmﬁﬁm%ﬁwﬁﬁwﬁﬁﬁﬁwﬁmmm%mﬁ?wﬁﬁﬁmﬁ

=T T AT & AT 2:3 B Srw?

Q.10 Factorise the following / F&fafra w1 qummve fifsm -
(@) x? —y%2 — 922 + 6yz
(b) 3 —12(a — b)?

Q.11 Rohan has 3 times as many 2 rupee coins as he has 5 rupee coins. If in all she has
a total of Rs 77/-, how many coins of each denomination does she have?/ Zrz7 ¥ 9 5

= o TRt 1 g § 2 wud & 1 1 g € afR suw o g e 77/- 297 € | 9w awm v

Q.12 An equilateral triangle of each 4.18 cm is made of a wire. If the same piece of wire
is bent into a ring, find the diameter. / Y% 4.18 &1 #1 UF wwarg Brqer v a1 F a7 892
AT THT T &1 UF FG1 % F9 § HIST S0 7 AT 714 FHor)

Q.13 Find the least number which must be subtracted from 402 s as to get a perfect
square. Also find the square root of the perfect square so obtained. / a8 <A " 5
Fr5r0 S ool 7w F4 F g 402 # & " s =R T ST AT QR 5 a7 gt ot o0
Fifora

Q.14 Evaluate / sma#¢: 1968 + V1375

Q.15 Divide the sum of % and 172- by their difference. Find the number. / 9; C 153 173 F AT
~ ~ . - 1
F1 3 A< 7 FAaTiE 9 Fe A w40

Q.16 Simplify / =& 777 %)
(x3 —2x%2+43x — H(x-1)—2x - 3)(x2 —x+ »1)
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Q.17 ‘A’ can do a piece of work in 25 days and ‘B’ can finish it in 20 days. They work
together for 5 days and then ‘A’ goes away. In how many days will ‘B’ finish the

remaining work? / 'r('ﬁwﬁm?ﬁrzsféﬁif{nwm%ﬁr'fvsﬁzoﬁﬁﬁwwmél
%sﬁﬁwwwxmméfsﬁfﬁrf'wwm%l'aﬁ*ﬁmmaﬁﬁmﬁ&iﬁwaﬁm

Q.18 Find the least number which when increased by 8 is exactly divisible by 24, 32
ih 36. / T A7 = e s Fyfore R 8 & az 0w 24, 32 7 36 ¥ ofa: farsreT 2

(‘2.1\9‘ :I‘he ratio of volumes of two spheres is 1:8. Find the ratio of their surface areas. /
TS 0 ST F1 SN0 1:8 {1 I 7o Srwat 7 Sy sty o)

Q.20 Using ruler and compass only, construct a quadrilateral ABCD in which AB = 3.5
cm, BC = 6.5 cm, 2A=75° . B=105°and « C = 120" / FAT FAT AT TR T ITIN FF, TF
ST ABCD =Tt it AB = 3.5 #nft, BC = 6.5 471, 2 A = 75°, 2 B = 105° 8w £ C = 120° &l

PARTB (10x 10 = 100 MARKS

Q.21 In a certain language if ‘INDIA’ is coded as ‘KMFHC’, how will ‘AMERICA’ be
coded? / w fafara srar & =2 'INDIA" 1 ' KMFHC' % =7 & F1f¥q far otmar 2, 41 'AMERICA' 31 33

Q.22 A company packages its milk powder in cylindrical container whose base has a
diameter of 14 cm and height 20 cm. Company places a label around the surface of the
container (as shown in the figure below). If the label is placed 2 cm from top and

bottom, what is the area of the label. /@MW@Wﬁ%ﬂwmﬁﬁ?ﬁﬁ?ﬁ%
Srerar SiTerT AT 14 FHT 7 FTE 20 F4AY 81 F9A F2A7 A w7 F A G0 0 e et 2 (v o
%qiff%vamw%)laﬁ'ﬁmaﬁwaﬁraﬁﬁzﬁnﬁﬁ{&wwwaaﬁmwmw%ﬂ

Q.23 Atwhat rate percent simple interest will a sum of money will amount to g of itself

. - L5 .
in 6 years and 8 months. / 3 2T & AL AT 9% UF R Ga‘meWTzwgirGfmﬁ?

Q.24 The value of a car depreciates every year by 10%. What will be its value after 2
years if its present value is Rs 50,000/-? / U %< %1 =4 8% A1 10% F &1 FaT 21 7F2 207

THAT 77 50,000/~ 7 & AT 2 A ATZ THHT Go FAT G2
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Q.25 pr'q=1l : 3 3—andq:r=3 4 g,expressp:q:rinsimplestterms.Also find
. ' 2' 2 - ~. . . -
r:p./IrF:*p:q=11/2:31/23ﬁ‘<q:r=3:42/3%ﬁp:q:rﬁWQ@TﬁWﬁlr:p%ﬁm\

Q.26 The cost of 5 meters of a particular quality of cloth is X 210. Tabulate the cost of 2,
4 10 and 13 meters of cloth of the same type. / T fd qura & 5 #iez Fa2 1 Fwa T 210

&1 3 W ¥ 2, 4, 10 $i7 13 Hiew 79 i e arofaa F0

Q.27 Calculate the area of a triangle whose sides are 29 cm, 20 cm and 21 m. F."l:fxlce.
find the length of the altitude corresponding to the longest side. <4 fAget &7 &6 579

F1frg R st 20 391, 20 Al e 21 At &1 TAf, FAR A GE F ATET SATE AT AATE A
EALELY

Q.28

P

In the above figure, PQRS is a parallelogram. T is the midpoint of PQ and ST
bisects £S. / PQRS wF sqd{+ § &l T, Heafay § PQ #7 3z ST fawes Fx wr & .S =7l
Prove that / g #4:-

(a) QR=QT
(b) RT bisects «R
(c) £STR=90°

Q.29 Abhishek has 3 times as many 2 ruppee coins as he has 5 ruppee coins. If in all
she has a total of 77, how many coins of each denomination does he have? / SATF F Qi
5 = ¥ fogt oY o & 2 =97 F ofi e R ) (L 6% 9T g ez 77 R &, 91 9 o v

Q.30 Three cubes of sides 3 cms, 4 cms and 5 cms are melted to make a new cube. Find

the surface area of the new cube? / T 7 a7 = & frw 3 anfY, 4 efy s § HHT SoTeT =7
AT ST AT AT AT 217 7w I S s 1500

ALL THE BEST



